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Csak adiabatikus folyamatokra:
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Termodinamikai egyensúly

Melegítés/hűtés:

Q = C∆T = nCm∆T = mc∆T
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Fázisátalakulás: ∆T = ∆p = 0

Q = ∆H = n∆Hm = m∆h
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Hőmérleg: Q1 +Q2 = 0⇒ Q1 = −Q2
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Reális rendszerek (t-s diagram)

Minden folyamatra:

∆u = w + q ∆h = ∆u + ∆(pv) ∆a = ∆u−∆(Ts)

∆g = ∆h−∆(Ts)

Izobár folyamatok:

q = ∆h w = −p∆v

Izoterm folyamatok:

q = T∆s w = ∆u− T∆s = ∆h−∆(pv)− T∆s

Izosztér folyamatok:

q = ∆h− v∆p = ∆u w = 0

Adiabatikus folyamatok:

q = 0 w = ∆h−∆(pv) = ∆u

Reverzibilis: ∆s = 0

Irreverzibilis: ∆s 6= 0


